Abe LI & S-H= AE LS 20224 (A) 20214 (B) EZ(A-B)

4,611,291 3,732,823 878,468

4,421,399 3,549,323 872,076

3,639,258 2,978,142 661,116

3,639,258 2,978,142 661,116

3,639,258 2,978,142 661,116

2,438,099 2,209,113 228,986

AXDH A 1,704,381 1,918,733 A214,352
. ZSUAYRAHAS 427,696
) 2er2gH| 52,004
I} 2de=E 210-01 100,000 x55= 500
L+) 1 XH Q1 A4 210-01 20,0002 x 9505 = 19,000
ChH NESH229 H = & 210-01 20,0002 x 1255 = 2,500
ch BMenN=2 210- 06 |14,0002! x 300 x2AI2tx 1818|= 15,204
OF) & AS A 210-01 |10,000% x850% = 8,500
B AZEQN 440-01 550,000 x3Ex23|= 3,300
A BADNSADE 210-01 |500,0002 x2E x33|= 3,000
2) ZAt=¢ 45,470
o SRE LA 25,430
(1) EM=¢ 180
() A2t 210-06 | 4,000%! x 202 8= 80
(L}) =24 210-06 |50,000% x21t2= 100
(2) dAt=E(SE1) 700
on o= 210- 06 |300,0008! x 1= 300
(L) =1 210-06 200,000 x 1% x2A| 2= 400
3) 2A=E(ELE2) 1,500
(ohH J1=2 210-06 |200,0008! x3%= 600
(Lh = 210- 06 150,000 x 3% x2A| 2= 900
(4) ZAL=E(LEH) 8,840
(on J1= 210- 06 160,000 x26%= 4,160
(L) =1 210-06 90,0002 x 26% x2A| 2= 4,680
(5) ZAL=E(282) 14,000
(ohH J1=2 210-06 100,000 x70%= 7,000

%o
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an
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I HMEASQPUHAA
J2Y  NMEIEENESHIESHER (Et9) : HE)
- o = NI _
ZOHRE=Z Aot Al At A LS S=HS MELHY 20224 (A) 20214 (B) Z2(A-B)
(LF) = 210- 06 |50,0008 x 70 x2A| 2= 7,000
(6) A= (B 2ZA 210
on J1e 210-06 |40,0002 x3%= 120
(LF) = 210-06 |10,0002 x3% x3A| 2t= 90
LE) QI2FOIZEAL 20,040
(1) ZA=E(SE1) 700
(ohH J1=2 210-06 |300,0008! x 1 &= 300
(LhH =1 210-06 |200,0002 x 1% x2A|2t= 400
(2) ZAI=E(S22) 3,500
(on o= 210-06 |200,0002 x7%= 1,400
(Lh) =t 210-06 150,000 x 7% x2A| 2= 2,100
(3) ZAr==EH(LEH) 8,840
(ohH J1=2 210-06 160,000 x26%= 4,160
(LhH =1 210- 06 90,0002 x 26% x2A| 2= 4,680
(4) ZA=EH(E2) 7,000
on J1 210-06 |100,0002 x35%= 3,500
(LhH =1 210-06 50,0002 x 358 x2A| 2= 3,500
3) ZAtA B &I 13,930
b SRALAL 7,580
(1) REH(HR=ELS) 210-06 25,0002 x80%= 2,000
(2) nSH(ESEEISZ=F) 210-06 60,0009 x30%= 1,800
(3) LEH(NSZII LA A 210-06 90,0002 x42%= 3,780
Lt) QI2FO12EAL 6,350
(1) nsSH(E=SL) 210-06 |25,000% x50 = 1,250
(2) nSHI(EHEZS =) 210-06 |60,000% x25%= 1,500
(3) NEHI(MSZ I 2B 4 210-06 90,0009 x40%= 3,600
4) A=2F X2 214,292
oH EERHEXNK 210-15 105,000 x534%= 56,070
L) o==HI2 210-01 10,0008 x 10Z x 103]|= 1,000
Ch =& HUSIHAIER 210-02 |610,000% x 122= 7,320
ch) Ha=MZze| 210-04 8,000 x300%= 2,400
0h) SaZAEEL AT 2,790
IS - QOILEZSUS - UENASS - DEAALYS} - DAXL 2
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J|2E HEL2 27 UAA
2y Ml EC N NSHS (E+9) : ® )
sofme 3 29O AT Ab@i LA = 5= NETE 202281(A) | 20218(B) | Z2(A-B)
At At At
(1) La2ATLES 230-02 |15,0002 x6% x113l= 990
(2) d=2AE T 230-02 15,0002 x8% x 153|= 1,800
Hh) & ASIXZAXZ 210- 07 500,000 x 100 = 5,000
A HE=2IAAERT 24 87,822
(1) 2t ﬂHlﬁ(SI\/IS)Mg 210-02 |500,0002 x 122 = 6,000
(2) datad oé. el S X2 210-01 |1,250,000& x 13|= 1,250
(3) UIERIARXNE= 210-13 458,000 x 128= 5,496
4) & t=‘/\|/\E*'C’I| &= 210-13 |673,0002 x 128= 8,076
(5) HDMIAHI 0| =& 210-01 500,000 x23|= 1,000
(6) SELFEHSAIAGOEZE S 330-05 |66,000,0008! x 17| 2= 66,000
Of) EASTHE 210-11 15,0002 x830%= 12,450
i) M2 NSHSAEF 22 210-15 |5,000,0009! x 17| 2= 5,000
Xt =g Z o 34,440
(1) IR ES 430-01 |1,300,0002 x9CH= 11,700
(2) 2=z Xg 430-01 |8,100,0002 x 20H= 16,200
(3) 2AAZLIHTV 430-01 |1,410,000% x 4CH= 5,640
(4) G=dSH A ZElH 430- 01 |450,0008 x20H= 900
5) =&Yl 102,000
JF) 2 220-05 |20,000% x34% x50 = 34,000
LE) S LUK 220-05 |40,000% x34% x50 = 68,000
Lt. SSHIAHNIAS 622,765
1) LEH2 3| 80,260
o) 2282 210-01 |100,0002 x 6% x43|= 2,400
Lh) HoI23 210- 01 [100,000€! x2& x23|= 400
Ch) 10 RH Q12K 210-01 |20,0009 x1,775%= 35,500
ch uEASI NSNS M 210-01 20,0009 x605= 1,200
Oh nManz 210- 06 |14,0008 x 301 x 2 Al 2+ x3903|= 32,760
) S & AS A 210-01 10,0002 x800%= 8,000
2) ZAr=g 59,730
b SRIZA 34,830
(1) Z2A=EH(SE1) 700
(ohH 212 210-06 |300,0002 x1%= 300
U - RUILESSUSE - AENA2E - nANFFS 2} - WAAS-2E
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J| NEZ=2FUSA
%
= o ALyt s-j= e 20224 (A)
of =S = a = =i
(LF) = 210- 06 |200,0002! x 1Y x2A| 2= 400
(2) 2M=H(SE82) 3,500
on J1e 210-06 |200,0009 x 7%= 1,400
(LF) = 210-06 |150,0002 x 72 x2A|2t= 2,100
(3) ZAIE=E(LEH) 14,280
(oh 21 210-06 |160,0002 x42%= 6,720
(Lh) =t 210- 06 |90,000% x 42 x2A| 2= 7,560
(4) Z2A=E(LEH2) 16,000
on J1 210-06 |100,000% x80% = 8,000
(L) =1 210- 06 |50,0002 x80% x2A|2t= 8,000
(5) A= (B 2AL 350
on J1 210- 06 |40,000% x5%= 200
(L) =1 210-06 |10,000% x5 x3A| 2t= 150
LE) 2I2FOI2FA} 24,900
(1) 2AM=H(SE2) 5,000
on J1 210-06 |200,000& x10%= 2,000
(LF) = 210-06 |150,0002 x 10 x2A| 2t= 3,000
(2) ZAt=E(LEH) 11,900
(7hH 21 210-06 |160,0002 x35%= 5,600
(Lh) =2t 210- 06 |90,000% x35% x2A|2t= 6,300
(3) 2 A= (L EH2) 8,000
on J1= 210-06 |100,000% x40 = 4,000
(LF) = 210- 06 |50,0002 x40 x2A|2t= 4,000
3) ZALAHI Z HI 17,575
b SRAZA 9,400
(1) nsSH(E=SL) 210-06 |25,000% x 100 = 2,500
(2) nSH(SEESZ=F) 210-06 60,0002 x40%= 2,400
(3) SHI(ANSHIIZH A 210-06 |90,0002 x50 = 4,500
LE) 2I2FOI2FA} 8,175
(1) nsSH(E=Y) 210-06 |25,0009 x75%= 1,875
(2) nSH(SEEISZ=F) 210-06 60,0002 x30%= 1,800
(3) BEHI(AMSEIIZ]FA) 210-06 |90,0002 x50%= 4,500
UXESUS - ANNIASE - WHIAASAUS - NAH+2Y
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J| NEZ=2FUSA
%
o < B
= o A LS S-AN= MELHY 20224 (A)
24
4) A=23X& 330,200
oh SEME X 210-15 |105,0008 x802%= 84,210
LH) d==HI2 210-01 10,0002 x9Z x453|= 4,050
Ch) =Mz 2| 210-04 |8,0002 x300¥= 2,400
ch) LA ELAST] 2 3,510
(1) S=ZA=LES 230-02 |15,000% x6% x113|= 990
(2) g2 HE 93 230-02 15,0002 x8% x213|= 2,520
Of) gt AS XSRS 210- 07 |500,0002 x 140= 7,000
Hh) dASTHE 210- 11 |15,000% x1,290% = 19,350
Ab) A2 XA 209,680
(1) FAL2IAL2I=E 210-01 |250,0002 x 10&= 2,500
(2) DID®R A 2= 210-01 |500,000& x53|= 2,500
(3) EHA=2H=AE 210-01 10,000,000 x23|= 20,000
(4) AAA=ZH =Y 184,680
(OF) f2AZH =N L 210- 13 |3,400,0002 x 45X} Al= 153,000
(Lh) 2EAF2HXISIHL 2L | 330-05 |30,000,0009 x13|= 30,000
(CH & A=< (012) 210-06 40,0008 x 79 x43|= 1,120
(2h) AAF=E(Z1) 210-06 |20,000& x 7% x43|= 560
5) S=E®HI 135,000
oF) 2LK 220-05 |20,0009! x45% x50 = 45,000
LH) ZLH 220-05 40,0002 x45% x50 = 90,000
Ct. =S uAAREA> 38,800
1) BRI 2 W EHE 8,800
Jh 4=l 210-01 |100,000% x40 = 4,000
LH) &44=04 8] 220-05 40,0002 x40 x32= 4,800
2) AL HNRH 30,000
Jh) A=A 210-01 |9,000,0002 x 210 &= 18,000
LI =04 220-05 |40,000% x60% x5 = 12,000
ct SSNAFAEA 38,800
1) BRI 2 WRLE A 8,800
Jb) o= 210-01 |100,000 x40%= 4,000
L) S04 220- 05 |40,0002 x40 x3= 4,800
PEZESSUE - AUAERNA2 HAA 2 - WAHASRH




&g NEZd=FUHEA
J2Y M2 NSHNSHSS (Sl : H )
o o = NI _
ZOH R = Aot Al Al AL S=HS AS S 20224 (A) 20214 (B) Z2(A-B)
2) DAL H 30,000
b ==&l 210-01 [9,000,0009 x 2}t &= 18,000
LI =048l 220-05 40,0002 x60% x52= 12,000
O DR NSMENATLUASHLH RIS 135,300
1) FHALIHISSAMDBIISHA 330-05 |8,800,0002 x 17| 2= 8,800
2) SEUSHASAAE DESIEFA 330-05 |126,500,0002! x 17| &= 126,500
Ht. AR LSS A 441,020
1) LBHE AL 88,400
JF) WIHIAM 210-01 20,0002 x 1,900%= 38,000
LhH iD=z 210- 06 |14,0002 x 301 x 3AI 2t x4003|= 50,400
2) ZAE 141,900
o SRJALA 78,000
(1) Z2AH(EE2) 3,500
(o J12 210-06 |200,0002 x 10 = 2,000
(Lh) =t 210-06 |150,0002 x 10 = 1,500
(2) ZAr=EH(LEH) 34,000
o J12 210-06 |160,0002 x 100 = 16,000
(LF) = 210- 06 90,0002 x 100 x2A| 2= 18,000
(3) Z2At=E(LEH2) 40,500
(ohH 212 210-06 |100,0002 x270%= 27,000
(LhH =1 210-06 |50,000%! x270%= 13,500
LE) QI2FOIZEAL 63,900
(1) 2AM=H(SE82) 3,500
(ohH 212 210-06 |200,0002 x10¥= 2,000
(LhH =1 210-06 |150,0002 x 10 = 1,500
(2) ZAt=EH(LEH) 34,000
ohH J1e 210-06 |160,0002 x 100%= 16,000
(Lh) =t 210-06 90,0002 x 100% x 2A| 2t= 18,000
(3) 2 At=H(LBH2) 26,400
(ohH 212 210-06 |100,0002 x176%= 17,600
(LhH =1 210-06 |50,000 x176%= 8,800
3) Z A& HI &I 30,080
IS - QOILEZSUS - UENASS - DEAALYS} - DAXL 2
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7120

|28 MEL=S2AHEA
%
o < B
= o A LS S=HS MELHY 20224 (A)
24
o SRE LA 17,150
(1) RSH(RSLH) 210- 06 25,0002 x302%= 7,550
(2) RSHI(ZEEEEZ=F) 210-06 60,0002 x40 = 2,400
(3) RSH(MSZIIZAZ A 210-06 |90,000% x80%= 7,200
LE) QI2FOIZEAL 12,930
(1) nSH(H=LA) 210-06 25,0002 x300%= 7,500
(2) DEH(EHELEZZF) 210-06 60,0002 x35%= 2,100
(3) LEHH(NMSEIILAZA) 210-06 90,0002 x37%= 3,330
4) A=2F K& 110,640
oh S&MEXH 210-15 |105,0002 X626 = 65,730
Lh) e=FHIS 210-01 |10,0008 x 155 x203]= 3,000
Ch) oMz 2| 210-04 8,000 x300%= 2,400
ct) SEAS KSR E 210-07 |500,0002 x 140§= 7,000
Oh A=A ETHE 210- 11 |15,000% x 1,800 = 27,000
g A2y 5,510
(1) 2928 210-01 |3,0002 x10Ex173|= 510
(2) A2 &AAH B 210-06 |25,000& x 109 x2035|= 5,000
5) NEFE3 | (2LH) 220- 05 |20,0008 x700%¥ x52U= 70,000
2, nAXAHAS 733,718
b, =S NJIXAAS 371,480
1) LBt I H| 57,440
o 292 210-01 |100,0002 x9Z x53|= 4,500
L) Bote=E 210-01 100,000 x3Z= 300
CH W IHOIM 210-01 [20,0002 x1,1508= 23,000
ch wienz 210-06 |14,0002 x 301 x 3AI2tx 1403]|= 17,640
Of) & &HASHAH| 210-01 10,0002 x600% x23|= 12,000
2) A= 95,030
oh) SRAZA 56,230
(1) EM==E(F=24]) 210-06 |50,000% x2128t= 1,050
(2) ME=Y 6,600
(oh 21 210-06 |30,0009! x51H & x 128 = 1,800
(LF) = 210-06 |800% x 12& x50058= 4,800
UEESWUS - QHNASE - DHAATYS} - DAAUL2Y




|2 MEAZ2TUAA
Hde s uUusdEUEA
= =
AbQd AMS LS S-AN= AE S 20224 (A)
) ZA=E(SE1) 8,400
(ohH 21 210-06 |300,0002 x12%= 3,600
(Lh) =1t 210-06 |200,000 x 128 x2A| 2t= 4,800
(4) ZA=E(S22) 6,500
H o= 210-06 |200,000% x 13 = 2,600
b =1t 210-06 |150,000 x 13% x2A|2t= 3,900
LA EH(LBH) 17,680
H o= 210-06 |160,0002 x52%= 8,320
(LF) = 210- 06 |90,000% X522 x2A| 2= 9,360
6) ZA=S(LEL2) 14,400
on J1 210-06 |100,000% x 24% x 4A| 2t= 9,600
(L) =1 210- 06 |50,0002 x24% x4A|2t= 4,800
ZAE(ERZA 1,600
(ohH 21 210- 06 |40,0008 x20%= 800
b =2 210-06 | 10,0009 x 20 x4A| 2t= 800
DI2tO12ZE AL 38,800
ZA=SZ(SE1) 8,400
H o= 210-06 |300,000% x 12%= 3,600
b =2 210- 06 |200,000 x 12 x2A| 2= 4,800
(2) LA (5E2) 8,500
(oh 21 210-06 |200,0002 x17&= 3,400
(Lh) =2t 210-06 |150,0009 x 17& x2A| 2t= 5,100
(3) A= (2EH) 11,900
on J1e 210-06 |160,000% x35% = 5,600
(L) =1 210- 06 |90,0002 x35% x2A|2t= 6,300
(4) ZAE(LBI2) 7,600
(oh 21 210-06 |100,0002 x38%= 3,800
(LF) = 210- 06 |50,000% x38% x2A|2t= 3,800
(5) A= (B XA 2,400
H o= 210-06 |40,000% x40Y= 1,600
b =2 210- 06 [10,0008! x40 x2A| 2= 800
3) ZAtAHI &I 21,060
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|2 HELA=S2PUHAA
J2Y M2 NSHNSHSS (Et9) : HE)
o o = NI _
20HE2 s Aol ALy Abe LI & S-H= AELHS 20224 (A) 20214 (B) EZ(A-B)
o SRE LA 11,300
(1) nSH(E=LR) 210-06 |25,000% x176%= 4,400
(2) DEH(EHELEZF) 210-06 |60,0009! x64%= 3,840
(3) RSH(MSZIIZAZ A 210-06 |90,000% x34%= 3,060
LE) QI2FOIZEAL 9,760
(1) RSH(R=SLH) 210- 06 |25,0002 x 166 = 4,150
(2) DEH(EHELEZZF) 210-06 60,0009 x44%= 2,640
(3) RSHI(MSZIIZAZ L) 210-06 |90,000% x33%= 2,970
4) A2 I XA 197,950
b Z2AA2HES 210-01 |5,0002x11Ex108|= 550
Lh S&MEXH 210-15 |105,0009 x520% x 33| = 163,800
Ch) ¢==HI2 210-01 | 10,0008 x35% x203|= 7,000
2}) oA AT aky| 210-04 |8,000% x200%= 1,600
Of) &t As X AR S 210- 07 |500,0002 x 140= 7,000
Hh) A& ESMHE 210-11 15,0008 x 1,200 = 18,000
Lt. SSn3A A=A 362,238
1) 2Bt I 49,040
o 2HES 210-01 100,0002 x7E x53|= 3,500
Lh EIIEE 210-01 [100,0002 x9&= 900
ChH) 10 RH Q1 A4 210-01 |20,000€ x 7008 = 14,000
ch wienz 210-06 |14,0002 x 301 x2A2tx2103]= 17,640
Of) & &HASHAH| 210-01 |10,000%! x650% x 23| = 13,000
2) ZArg 89,010
oh) SRAZA 51,810
(1) EM=¢ 1,650
(Oh F=2A 210-06 50,0008 x332 8= 1,650
(2) MHE = 6,360
(ohH 212 210-06 |30,000%! x 71t & x 128 = 2,520
(L) =1 210-06 800 x 122 x4002= 3,840
(3) ZAH(SE1) 10,500
on J1 210- 06 |300,000%! x 15%= 4,500
(LF) = 210-06 |200,0002 x 153 x2A| 2k= 6,000
WS - ROLEZSUS - ANNARSS - DAJALAS} - DAAS2Y
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J28 HEA=22AUHEAN
2y MYSCNSHUsASE (B9 M)
- a3 =aa NI _
ZO0HRE Aol Al Aol At LH S-HM= AELHS 2022 (A) 20214 (B) Z2Z(A-B)
(4) DA (EE2) 10,000
on 1= 210-06 |200,0008 x20%= 4,000
(L) =1 210-06 |150,0008 x20% x 2| 2= 6,000
(5) ZAt=E(LEH) 15,300
(ohH J1=2 210-06 |160,0008 x45%= 7,200
(LhH =1 210-06 | 90,0002 x45% x2A| 2t= 8,100
(6) ZAI=E(LEF2) 8,000
on J1& 210-06 |100,000%! x40 = 4,000
(LhH =1 210-06 |50,000! x 402 x2A| 2t= 4,000
L) QI2+0I2EAL 37,200
(1) ZA==E(SE1) 10,500
(on J1= 210-06 |300,0008! x 15%= 4,500
(LH =1 210-06 |200,0008 x 15% x 2A| 2= 6,000
(2) 2AM=H(SE82) 9,500
(ohH J1=2 210-06 |200,0008 x 19%= 3,800
(LF) =1t 210-06 |150,0002 x 19F x2AI 2t= 5,700
(3) Z2At=H(LEH) 10,200
(ohH J12 210-06 |160,0008 x30%= 4,800
(LhH =1 210-06 |90,000% x 302 x2A| 2t= 5,400
(4) ZA=E(LEI2) 7,000
on o= 210-06 |100,0008 x35%= 3,500
(L) =1 210-06 |50,0008 x 352 x2A| 2t= 3,500
3) ZAAHIZ 17,600
ot SR A 9,500
(1) REH(H=2LH) 210-06 |25,0009€ x 140%= 3,500
(2) NEH(EHA G ZF) 210-06 |60,0008 x40%= 2,400
(3) RSHI(MSZIIZAZ L) 210-06 |90,000% x40 = 3,600
L) IZ2FOIZ2E AL 8,100
(1) REH(H=2LH) 210-06 |25,0009 x 120%= 3,000
(2) NEH(EHA G ZF) 210-06 |60,000 x40%= 2,400
(3) RSH(MSZIIZAZA) 210-06 90,0008 x30%= 2,700
4) A=2HAA 206,588
LS - QUILEZSUS - AHNASE - DHAAYYS} - DALY
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.|
e

S HEAS LA

Mt S sEUSsHSE (S92 : ®RA)
o = = NI - -
= Aol Al Aol Al LS S-AN= AS S 20224 (A) 20214 (B) Z2(A-B)
o 2AA2EES 210-01 |5,0008 %105 x83|= 400
LH S&ME XIS 210-15 105,000 x500% x38|= 157,500
ChH dA==HI2 210-01 [10,000¥ x57&x103|= 5,700
ch) =Mz 2| 210-04 |8,0002 x150¥= 1,200
Oh dASI XA IZ 210-07 |500,000% x 14CH= 7,000
HE) A STHE 210- 11 |15,000% x984 %= 14,760
AR BOLX| 2ol 20,028
(1) el 110-03 81,190 x8% x30Y= 19,486
(2 4HEEHEELZ(DR,AH) | 320-05 |19,485,6002 x2.78%= 542
NLBLIAAS2H 1,100,018 769,029 330,989
1. JgSRA=ZHuSEH 1,100,018 769,029 330,989
b NLEsRAIHUsE=H 777,988
1) LBt | 143,480
oh) 24922 210-01 |100,0002 x8Z x83|= 6,400
L) 1 KH Ol AH 210-01 |20,000%! x4,7902= 95,800
Ch nManz 210- 06 | 14,0002 x30H x8403|= 35,280
o) & ASAH| 210-01 |10,000%! x600 = 6,000
2) A 132,720
b SRALAL 58,480
(1) ZA=E(52) 1,500
(7hH 212 210-06 |200,0002 x3%= 600
(Lh) =2t 210-06 150,000 x3% x2A| 2= 900
(2) ZAr=EH(LEH) 9,860
(ohH 212 210-06 160,000 x29%= 4,640
(LhH =1 210-06 |90,000%! x 29 x2A| 2t= 5,220
(3) L AF=EH(LEH2) 46,400
ohH J1e 210-06 |100,0008 x232%= 23,200
(Lh) =t 210- 06 |50,0002 x 2323 x 2A| 2t= 23,200
(4) ZA=L(EZZAN 720
(ohH 212 210-06 40,0002 x 12%= 480
(LhH =1 210-06 |10,000% x 128 x2A|2t= 240
LE) DI2FOI A} 74,240
UEZEWNS - ANNIASE - DEAATAS} - AR AAL2Y
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.|
e

S HEAS LA

J2Y M2 NSHNSHSS (E+9) : ® )
o = = NI _
ZOH R = Aot Al Al AMS LS S-AN= AS S 20224 (A) 20214 (B) Z2(A-B)
5) =&Yl 371,840
Jb) 2HUH 220-05 |20,0002 x2,000% x43|= 160,000
LE) S LUK 220-05 |40,000 x 1,324 x43|= 211,840
Lt ANESREI|u=ssd 322,030
1) L2y 77,520
JF) W HeI A 210-01 |20,0002 x3005 x23|= 12,000
Lh BNz 210-01 |14,0002 x 301 x 780A| 2t x23|= 65,520
2) 2 A4 158,280
o SRALA 71,240
(1) 2AM==H(SE82) 10,000
(ohH 212 210-06 |200,0002 x 10% x23|= 4,000
(Lh) = 210-06 |150,0008 x 102 x2A| 2k x 23| = 6,000
(2) ZAL==E(LEH) 42,840
(o J12 210-06 |160,0002 x63% x23|= 20,160
(LF) = 210-06 |90,000%! x63% x2A|2tx 25|= 22,680
(3) 2 At=E(LEI2) 16,400
o J12 210-06 |100,0002 x41% x23|= 8,200
(LF) = 210- 06 |50,0009 x 41 x2A| 2t x23|= 8,200
(4) ZA=Z(EZZAN 2,000
on J1e 210-06 40,0002 x20% x23|= 1,600
(LF) = 210-06 |10,0002 x20% x 1 A|2tx23|= 400
LE) QI2FOIZEAL 87,040
(1) 2AM=H(SE82) 25,000
(ohH 212 210-06 |200,0002 x25% x23|= 10,000
(Lh) = 210-06 |150,0008 x25% x 2A| 2k 23| = 15,000
(2) ZAt=EH(LEH) 42,840
ohH J1e 210-06 |160,0002 x63% x23|= 20,160
(LF) = 210-06 |90,000%! x 63 x2A|2tx 25|= 22,680
(3) 2 At=H(LBH2) 17,200
(ohH 212 210-06 |100,0002 x43% x23|= 8,600
(Lh) = 210-06 |50,000 x 43 x2 A2k x 25| = 8,600
(4) ZAr=Z(EX2AL 2,000
UE - RULEZSWUE - ANNASS - PEIAAYS - NLBL2AAL2Y
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detsRusdEsHs3 (E+9) : ® )
= o < N Abe L STES MBS 2022E(A) | 2021H(B) | Z2Z(A-B)
At At At

on J1 210-06 40,0002 x20% x23|= 1,600

(LF) = 210-06 |10,0002 x20% x 1Al 2t x2 400

3) ZAtAHI &I 32,110

b SRAZAL 12,150

(1) nsSH(E=SL) 210-06 25,000 x75% x23|= 3,750

(2) nSH(EHEZS2=F) 210-06 |60,0002 x37% x23|= 4,440

(3) NEHI(MSZ I 2B 4 210-06 |90,0009 x22% x23|= 3,960

LE) 2I2FQ12FA} 19,960

(1) DEH(HELH) 210- 06 |25,000% x38% x23|= 1,900

(2) nSH(EHEZL =) 210-06 |60,0002 x38% x23|= 4,560

(3) WEHI(MSZ I 2B 4 210-06 |90,000! x75% x23|= 13,500

4) A=2FX&2 54,120

I dade= 210-01 |5,0008 x 10& x203|= 1,000

Lh SEMEXA 210- 15 |105,000%! x 30 x83|= 25,200

ChH e DESAH| 210-01 200,000 x30% x23]|= 12,000

ch) Mz e 210-04 |8,0002 x30% x83|= 1,920

Of) si&aAsI XS ARE 210-07 |500,000® x50 x23|= 5,000

B dASTHE 210- 11 15,0009 x30% x203|= 9,000
2Z2XAH+2H 101,141 101,141
CWSIERAHASEHIPES 101,141 0 101,141

Jb ZEt2 I 12,066

1) 2Y2= 210-01 100,0002! x4Z= 400

2) WOl 210-01 |20,000& x100%= 2,000

) WAL Z 210-06 |14,0002 x30Hx 1733]|= 7,266

4) A EH] 210-01 |10,000% x240% = 2,400

Lt ZA=& 17,920

1) SELA 1,050

Oh) 2 A= (2 82) 1,050

(1) 212 210-06 |100,0009! x 7%= 700

(2) =1 210- 06 |50,0002 x 7% x 1Al 2t= 350

2) IZ2HOI2EAL 16,870

oh) 2 AL EH) 14,620

UYEZSWS - QLSS - DHAALAS} - 22N L2Y




|28 MEL=S2AHEA
_Ci_j
- 2 ~
= o A LS S=HS MSUHS 20224 (A)
&
(M o= 210-06 |160,0002 x43Y= 6,880
(2) =1 210-06 90,000 x 43 x2A| 2t= 7,740
LE) ZAR=EH(LE12) 2,250
(1) 21= 210-06 |100,000& x15%H= 1,500
(2) =1t 210-06 |50,0009! x 15 x 1 Al 2t= 750
Ct. ZrAt&l I & I 3,665
1) SFRLA 175
ohH nsSH(dEsLd) 210-06 |25,0009 x 7%= 175
2) QI2FOI2EAL 3,490
I DNEH|(HEUN) 210-06 |25,000% x22%= 550
L}) DEH(SHAESZF) 210- 06 |60,000% x10Y= 600
ChH WEHI(MS3I|LHA) 210- 06 |90,000% x26%= 2,340
ct A2 RXI& 25,250
1) A=2HES 210-01 |5,0009! x20& x53|= 500
2) dEMEXNA 210-15 105,000 x 1382 = 14,490
3) Az ety 210-04 |8,0009!x 1958 = 1,560
4) A ANE 210-07 |500,0002 x 120= 6,000
5) dasE 210-11 [15,0002 x 180 = 2,700
Ot =30l 42,240
1) 2HLH 220-05 |20,000%! x384% x23|= 15,360
2) U 220- 05 |40,0002 x336% x23|= 26,880
=gyt 782,141
a2y 782,141
=29 782,141
Jl2a2gt] 782,141
JIE2YRFAL| 151,240
b J1ad22g &l 17,720
1) J|22FHRFLAY] 230- 01 |6,000,0009 x 17| 2= 6,000
2) A H S F=AY| 230-01 80,0009 x49%= 3,920
3) AR AL LA 250-02 |650,0002 x 1% x128= 7,800
Lt M I22Z2 &l 133,520
1) =% 27,224

i

E2dgd| - J|2) =23l
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Mt S sEUSsHSE
= o o B I AbelLje s = NEST 202214(A) | 2021H(8)
AL At At

o) Ler2d | 4,346

(1) XY 210-01 800,0008 x 12 A= 800

(2) M & 210-01 |394,000% x9%= 3,546

L}) E204AH| 210-05 |8,0009! x9% x 143|= 1,008

ChH EXM29ZH| 210-15 |175,0002 x 128= 2,100

ch) = LHoi H 15,570

(1) 2tLH 220-01 |20,0002 x93 x253|= 4,500

(2) = U 220-01 40,0002 x98 x 153|= 5,400

(3) &2 220-01 |70,0002 x9% x95|= 5,670

Oh) EXAHZH R4 AH Y| 250-02 |350,0002 x 1% x1228= 4,200

2) 29 27,224

O et A 4.346

(1) EXME 210-01 |800,0008! x 15 A= 800

(2) Hol &t 210-01 |394,0002 x9%= 3,546

LH) S2004lH] 210-05 |8,000%! x9% x 1435|= 1,008

ChH EA2g3d| 210-15 |175,0002 x 128= 2,100

ch) = LHoi H 15,570

(1) 2t 220-01 |20,0002 x 9% x253|= 4,500

(2) W 220-01 40,0008 x9% x 153|= 5,400

(3) =2 220-01 |70,0002 x 9% x93|= 5,670

0h) RENHZHIL-HAY| 250- 02 |350,0009! x 1% x 128= 4,200

3) HHAHARL 28,424

o) ger2dy| 4,346

(1) EXME 210-01 |800,0008! x 1 £ A= 800

(2) Hol & 210-01 |394,0002 x9%= 3,546

LH) S2004!H] 210-05 |8,0002 x9%¥ x143|= 1,008

Ch EA253dl 210-15 |175,0002 x 128 = 2,100

ch) 2o 15,570

(1) 2t 220-01 20,0002 x98 x253|= 4,500

(2) W 220- 01 |40,0002 x9% x 153|= 5,400

(3) =2 220-01 |70,000% x9% x93|= 5,670

Oh) MM I G2 5,400

2ot - J|22Y - J|E22gHl - J&AJ =229l
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SR uUsE s+ (S92 : ®RA)
= o o B I A LA 242 e 2022(A) | 2021E(8) | Z2(A-B)
= A | A | A B o e = = ==

(1) 2 250-02 |350,0008 x 1% x128= 4,200
(2) 4& 250-02 100,000 x 1€ x128= 1,200
4) SRR 50,648
o) et 7,892
(1) 2EAE 210-01 |800,000% x 15 Al= 800
(2) Mol 210-01 |394,000% x 182= 7,092
L) S201AHI 210-05 |8,0002 x 189 x 145|= 2,016
ChH EXM&g &l 210-15 |350,0002 x 128= 4,200
o) =LHoi] 31,140
(1) 2+LH 220-01 20,0002 x 18% x253|= 9,000
(2) =LA 220-01 |40,000¥ x 18% x 153|= 10,800
(3) =2 220-01 |70,0002 x 18 x93|= 11,340
0f) NS PR3 5,400
(1) 2 250-02 |350,0008 x 1% x128= 4,200
(2) +& 250-02 |100,0008 x 1% x 128 = 1,200

2. J|&#2g3H| 630,901 428,743 202,158
I SEQsLHA 118,440
1) =JI=2 B A 210-01 | 10,000 x 2401 x43|= 960
2) Al otM 2 210-01 100,000 x125|= 1,200
3) HIIe= 210-02 |8,200,000% x 128= 98,400
4) MotR= 210-02 550,000 x 128= 6,600
5) Aot R2 210-02 |460,000% x 128= 5,520
6) rEedESrtly 210-02 80,0002 x12&= 960
7) FIESYLAYOEM 2L X Y| 210-02 |200,000% x13|= 200
8) AEEE= 210-02 |400,000% x 15|= 400
9) RER=S 210-02 |50,0002 x 128= 600
10) HIJI= X 2lbl 210-02 |300,0002 x128= 3,600
Lt ZAr2tel 24,040
1) AEAIZHEE A 210-13 |220,0002 x 128= 2,640
2) MOt E A 210-13 |530,0009 x 128= 6,360
3) sYIIHEBH 210-13 |190,0002 x 128= 2,280
4) gt A= 210-13 500,000 x63l= 3,000

i
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28 NEA=227UEA
Iy MelsClsHIsHSE (Et9) : HE)
solmel 23 | BA O MT AbeLy e s-AIS NENT 20221(A) | 2021H(B) | Z2(A-B)
At At At
5) SHIAFALSHZA 210-13 |500,000% x23|= 1,000
6) FAMSELHRAES 210-13 80,0002 x 128= 960
7) @4eHeAIE KR 2e 210- 13 400,0002! x 128= 4,800
8) 3BTAIE =M E A H| 210-13 |1,500,0002 x23|= 3,000
Ch AIEEHISX 2= 134,056
1) st E A 210-09 |20,000% x150E= 3,000
2) dutgty| 2| LA 210-09 |100,000€! x 120CH= 12,000
3) IS K& 210- 13 |35,000& x 2401 x 12&= 10,080
4) BHMEIIRX22 210-13 |30,0002 x8LHx 128 = 2,880
5) OIS K& 210-09 |25,0009 x 7201 x 23| = 3,600
6) MIIANERXNE 210-09 |500,0002 x 128= 6,000
7) 4SEHUIRKE S 210-09 |300,000% x 12&= 3,600
8) HAIR X222l 210-09 6,000,0009 x 122 = 72,000
9) Bt EZXLI|HAE R 2 210-09 |600,000% x 12&= 7,200
10) 3A>=SLSAHH 2L 210-01 |1,000,000€ x103]= 10,000
11) SAH 022 210-13 |154,0002 x2[H x 12&= 3,696
ct. et & | 48,732
1) 2HEH=SLEA 210-01 [18,0002 x22& x 128= 4,752
2) XH= M & 210-01 10,000 x80% x43|= 3,200
3) MANM 2 DA 210-01 |150,0002 x 15 x23|= 4,500
4) 2= 210-01 |80,0002 x22ZF x33|= 5,280
5) I £4] 210-03 |300,0002 x 7%= 2,100
6) AH W= 758
OF) 2 AR (e 590
(1) 21 210-06 |160,0002 x2%= 320
(2) =3t 210-06 |90,000% x 1% x3A|2t= 270
Lh &ns 210-06 14,0002 x 30K x4 Al 2t= 168
7) 2=l 20,222
o) FAMLHEEER 210-08 |1,3198x50Lx 250 = 16,488
Lh Jtadz 210-08 |5,1002 x50m x 128 = 3,060
ChH oHUHAES 210-08 (898 x10Lx75Y= 674
8) AAES 210- 15 |500,0008 x 128= 6,000
nNE - K- J|2A2Y - J28g9H - J|2)|22g|
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Iy MelsClsHIsHSE (E+9) : ® )
some| 5 ) 29 MHT N s-H= NESTE 2022U(A) | 2021E(B) | ZZ(A-B)
AL At At
9) BEAHAZAAIE 210-15 |30,0002 x8Z x 33]|= 720
10) HHESSHE(2IRE) 210-15 |50,0002 x 65 x43|= 1,200
Ot g&2tel 26,600
1) &R A ZHI 210-01 |500,0002 x 12 A= 500
2) =2d| 210-06 |60,000%! x3652= 21,900
3) RoldHE9= 210- 13 |350,0002 x 128= 4,200
b, S81H2dY 218,587
1) HE S &(15,000kmOl &) 210-10 |12,658,000% x 1= 12,658
2) SESE(15,000kmO0l4t) 210-10 |5,929,000& x1Li= 5,929
3) HEHA(362/5014) 430-01 |200,000,0002 x 1 CH= 200,000
A =462E 44,121
1) sS4l 210-01 |250,0002 x6F x23|= 3,000
2) Motede = 210-01 |275,0002 x6ZE x63|= 9,900
3) AJIMIED| 430-01 |16,439,000%! x 1CH= 16,439
4) Ol X3l =& X 430-01 |1,760,000%! x2CH= 3,520
5) 3 MAl=E 430-01 |4,927,0002 x20H= 9,854
6) 3ItAEKX 430-01 |1,408,000% x1C}= 1,408
Of. At St s 16,325
1) S A MEDI 430-01 |960,0002 x 1 CH= 960
2) 3|9 KEH} 430-01 |247,0002 x 3= 741
3) 32 E Xt 430-01 |131,000% x 1204= 1,572
4) SI1EEDI 430-01 |845,0008 x 1CH= 845
5) H4=J| 430-01 |4,069,0008 x3CH= 12,207
JIEt 189,892 183,500 6,392
ol Al 189,892 183,500 6,392
oIA 189,892 183,500 6,392
189,892 183,500 6,392
AR oIAHH| 189,892 183,500 6,392
L WEZLER0 189,892 183,500 6,392
Jb. el SArae! 112,312
EAEES M% 85,197
oh o= 110- 04 |1,840,0002 x2¥ x 12@= 44,160
JIEt 2Hl - elAd| - WEISRE Y|
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=

N2

SFUEA

HI

e 0

AFSILH 2

Lh 2&ag

ChH 24|

2h slgaesy

0h =4

Hh HEEIIEN

AR HDlAb012

oh xp2Red
ORP !

) HES =Y
DCEE

BN 40iEEd g2
2) SAUAML KA (L)
o) o1

Lh A2 S| 222 (D, ATH)
L. HASOIAHY|

1) HAg

PPIEE!

L) 24|

Ch YEEHILED

A E =N

OF) O Rt

HH) &=

AR E1Z2

o 4iEEIIZRE2
2) HANAML XA (L)
pPRIEL]

Lh A2 S| 222 (D A TH)

2-H2

110- 04
110- 04
110- 04
110- 04
110- 04
110- 04
110- 04
110- 04
240- 02
320- 12
320- 12

110- 03
320- 05

110- 04
110- 04
110- 04
110- 04
110- 04
240- 02
320-12
320- 12

110- 03
320- 05

At

!_

M

770,000& x12&8=
140,000 x2H x12&@=
50,0002 x2H x12&=
80,000& x2E x12&=
600,000& x2H x23|=
450,000 x2H x23|=

17,0003 x 10AI2tx 128 =

92,0003 x2H x22=
550,000& x2H x13|=
71,268,000 x1/12=
71,268,000& x11.21%=

73,2803 x6EH x60L=
26,380,800& x2.78%=

1,840,000@ x2¥ x12&=
140,000 x2H x12&=
600,000& x2H x23|=
14,2003 X 8A| 2t x 12&=
76,0002 x2Y x16=
550,000& x2H x13|=
54,816,000 x1/12=
54,816,000& x11.21%=

73,2803 x2&H x80L=
11,724,800 x2.78%=

L&

2022 (A)

9,240
3,360
1,200
1,920
2,400
1,800
2,040
4,048
1,100
5,939
7,990
27,115
26,381
734
77,580
65,529
44,160
3,360
2,400
1,364
2,432
1,100
4,568
6,145
12,051
11,725
326

1 2id] - 22Xt
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